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Total 50 Marks
I- Vocabulary (8 Marks)

A -From a, b, c and d choose the most suitable word that best completes each of the
following sentences):(4 x 1 =4)

1. My father is a very careful driver, he ......................... drives above 70 kph.

a) dramatically b) awkwardly c) loudly d) rarely

2. That chair looks uncomfortable. I'll goand ................... a cushion for you.

a) fetch b) whisper C) improve d) flee

3. Itisdifficulttoget..................... figures on population numbers all over the world.

a) enthusiastic b) massive C) accurate d) bloated

4. Mr. Ahmed's a good teacher, but he doesn't have much ................... with the young pupils.
a) poetry b) custom C) pavement d) patience

B -Fill in the spaces with the most suitable words from the list below: (4 x 1=4)

( find out - symptoms - convey -- enormous — chase away )

5. A good leader always chooses words which best ............ his message to his audience.
6. It is not good to spend this ................... amount of time chatting on the Internet.

7. When I got lost, I asked a policeman to helpme ............... the address I was going to.
8. High temperature and headache are the usual ......................... of flu; the common

disease in winter.
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I1-Grammar (5 Marks )

A - From a, b, ¢ and d choose the most suitable answer: (4 X% =2)

9. I want to go shopping with mum, but I haven't finished my homework ...............
a) since b) yet C) just d) already

10. My brother, .................... lives in London, will visit Kuwait on business soon.
a) who b) which C) when d) whose

11. If you attended your classes regularly, you ................. dismissed from school.
a) don't be b) won't be c¢) wouldn't have been d) wouldn't be

12. Unfortunately, we arrived at the theatre after the concert .....................

a) starts b) has started c) had started d) starts

B)-Do as shown in brackets : (3x1=3)

13. " I'm flying to Dubai to visit my relatives." (Reported speech)

ARmed Sald. .. ...,

14. This zoo attracts two million visitors per year. ( Make Passive)

15. Amina has to buy some meat for the dinner . (Make negative)

I11-Language Functions ( 6 Marks )
Write what you would say in the following situations : (4 X1 ¥ =6)
16. Your friend asked for your opinion about a poem he wrote.

...........................................................................................................

..........................................................................................................

...........................................................................................................

...........................................................................................................
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V- Set Book Questions ( 5 Marks )
A)-Answer ONLY three of the following questions : (3 X 1 = 3)
20. How can you be a good story writer ?

Literature Time ""Around the World in Eighty Days"'
B) Answer ONLY one of the following questions(1 x 2= 2) :
24. In your opinion is Mr. Fix a good detective? Give reasons.

............................................................................................................

............................................................................................................
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V- Writing (12m) Marks
""Large cities are good places to live in, but people living there may face some problems.*

Plan and write a two-paragraph report (12 sentences) about the problems of Large cities

and suggested solutions.

The following words and phrases are for help:

1% Paragraph : Problems of large cities: large cities — population — crowded — pollution-
traffic problems

2" Paragraph : Suggested solutions :
( Bridges -Tunnels — more buses- more trees — wider streets )

Write your outline here ( 2 Marks )
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V1- Reading Comprehension (14) Marks
Read the following passage carefully, then answer the guestions below:

Most Americans think of mail carriers as drivers of little white jeeps with the steering
wheel on the wrong side of the car. While this description holds true for many, some people who
deliver the mail do so in a way that is quite different from the jeep and mailbag method. Supali, a
village in Arizona, has an unusual system. Since 1869, Supai has relied on mules* for the
delivery of its mail.

The village of Supai is located in the Grand Canyon. The steep, rocky land makes it
difficult to deliver the mail; it is not friendly to the Jeeps. People travel by foot, horse, or
helicopter. Obviously, the cost of using helicopters is expensive. Thus using helicopters or the
Jeep and mailbags to get mail to the people is out of the question. So mail is delivered to Supai
by muleteers—drivers of postal mule trains.

Muleteers use ropes to tie packed boxes to the sides of mules. These packages include
typical mail like cards and bills but also supplies such as water, bread, and even computers.
Muleteers and their mules provide the citizens of Supai with goods and communication they
need. In return the demand for these services provides muleteers with an unusual workday.

*mule: an animal whose mother is a horse and whose father is a donkey
A)Choose the correct answer froma, b, candd: (4x2=8m)
1. The underlined pronoun in line three "they" in the last paragraph refers to ............

a. muleteers b. citizens of Supai

C. services d. boxes

2. The best title for this passage canbe.....................oeeeeen.

a. How mail is delivered in the village of Supai

b. Drivers of little white Jeeps

c. Mail bags in America d. Supai, a nice village to visit
3. The opposite of underlined word "typical™ is....................oooel ..
a. average b. regular

c. normal d. abnormal

4. Muleteers use ropesto ..........cceeevvennnnnn.

a. tie packed boxes to the sides of mules b. drive their cars well

C. to know their way d. to have a usual workday

B: Answer the following questions: (3 x2 =6 m):
5. How do most Americans think of mail carriers?

.............................................................................................................

..............................................................................................................

End of the Exam
Good Luck



